














{　１，４，５，８，９　}

(2)（エ）

Ｂ

a＝　－２

(１)（ア）

2a2-4a+3

(３)（エ）

0 1 2 3 4 5 6 7 8 9 10

PQ　＝ ２５√２

(１)（イ）

y　＝　11.2

(25√6)2+(50√2)2-2(25√6)(50√2)cos 30°

(2)

(x -ｙ )(x -y＋ｚ )

(3)

1

a
=　√５＋２

(5)

X =　４，－１

(１)（イ）

(オ)

PQ2　＝

分　散

50 又
は

sin 45°
５０√２

Ｂ

(1)（イ）

ｘ　＝　a

(3)（エ）

x　＝　0

(3)（カ）

２

(3)（ク）

a2-1
(４)（コ）

令和７年度　横浜創英大学一般選抜入学試験（Ⅰ期）
数学　解答例

ｘ　＝　2

(3)（ケ）

(2)（オ）

2a2-1
(2)（キ）

ｘ　＝　a

Ⅰ

(1)

ⅹ 6－１

a=　√５－２　　　　　　　，

(4)

ー２　≦　X　＜　１

Ⅲ

(1)（ア）

Ⅱ
(2)（ウ）

(2)（ウ）

a　＝　±１

Ａ

（a,a2-1）

(2)（オ）

Ⅴ

(1)（ア）

(2)（ウ）

(４)（オ）

ｘ　＝　１０

Ⅳ

(ア)

(ウ)

BQ　＝　５０

４

(カ)

(イ)

AP　＝　２５√６

(エ)

AQ　＝　５０√２

(キ)

PQ2　＝ 1250

AP2+AQ2-2AP・AQcos 30°















=
√３＋１

２

Ⅳ

(ウ)

　　△ABC　＝　１５√３

１２　　　　　（日）

(キ)

　　Ｒ　＝

(ア)

　　AC２　＝ 102+62-2・10・6・cos120°

Ⅴ

(1)（ア）

(2)（ウ）

(３)（エ）

１３　　　　　（日）

(１)（イ）

２９

(４)（オ）

0 15

(エ)

中　点

　　AC　＝　１４

20 25

令和７年度　横浜創英大学一般選抜入学試験（Ⅱ期）
数学　解答例

(5)

Ｂ

(1)（イ）

　　ｘ 　＝ a

(3)（エ）

　　x 　＝　０

(2)

（ｘ ＋ｙ －１）（ｘ ＋ｙ ＋３）

Ⅰ

(1)

ｘ ６－１

　　a=　√３－１　　　　　　　　　　，
(4)

－１　＜　ｘ 　≦　５

Ⅲ

　　a＝　３

(3)

1

a

Ⅱ
(2)（ウ）

　　x ＝　２　，　－１

(１)（イ）

{　－１，　２，　４，　５　}

(2)（エ）

Ａ

-2a2 + 4a - 3

(3)（ク）

-a2 + １
(3)（コ）

(1)（ア）

(3)（ケ）

(3)（オ）

-2a2 + 1
(3)（キ）

　　ｘ 　＝　a

(2)（ウ）

　　a　＝　±１

Ｃ

（　a ,  -a2  + 1  ）

(１)（ア）

(3)（カ）

２

　　ｘ 　＝　２

(2)（オ）

(イ)

８　　　　　（日）

(オ)

　　△ACP　＝　４９√３

(カ)

６４√３

３

１４√３

5 10


